
 

Computational 

Formulas
 

CRIMES 

Crime rate – A crime rate describes the number of crimes reported to law enforcement agencies 
for every 100,000 persons within a population.  A crime rate is calculated by dividing the number of 
reported crimes by the total population. The result is then multiplied by 100,000.  For example, in 2014 
there were 48,650 robberies in California and the population was 38,499,378.  This equals a robbery 
crime rate of 126.4 per 100,000.

 48,650 = 0.0012636 x 100,000 = 126.4
38,499,378 

Clearance rate – A clearance rate describes the percentage of clearances reported to the number of 
crimes reported.  A clearance rate is calculated by dividing the number of clearances by the number of 
crimes reported. The result is multiplied by 100.  For example, in 2014 there were 1,091 clearances for 
homicide crimes and 1,697 homicides reported.  This equals a homicide clearance rate of 64.3 percent. 

1,091 = 0.64289 x 100 = 64.3 percent 
1,697 

ARRESTS 

Arrest rate – An arrest rate describes the number of arrests made by law enforcement agencies per 
100,000 total population or per 100,000 population considered to be at risk for arrest. Regardless of 
the population used, both rates are calculated in the same manner.  An arrest rate is calculated by 
dividing the number of reported arrests by the desired population.  The result is multiplied by 100,000. 

For example: 1) In 2014, there were 439,958 total felony arrests and the total population was 
38,499,378, which equates to a 1,142.8 arrest rate; 2) In 2014, there were 439,958 total felony arrests 
and the population at risk (10-69 years of age) was 30,190,364, which equates to a 1,457.3 arrest rate.  

439,9581) = 0.0114276 x 100,000 = 1,142.8 per 100,000 population
 
38,499,378
 

439,9582) = 0.0145727 x 100,000 = 1,457.3 per 100,000 population at risk 
30,190,364 



 

 

ADDITIONAL INFORMATION 

Percent change – A percent change describes the change in number or rate from one year to another. 
A percent change is calculated by subtracting the base-year data from the current-year data.  The 
result is divided by the base-year data and multiplied by 100.  For example, in 2014 the robbery crime 
rate was 126.4.  In 2009, the robbery crime rate was 172.6.  The percent change in rate from 2009 to 
2014 is a 26.8 percent decrease. 

126.4 – 172.6 = - 0.26767 x 100 = -26.8 percent 
172.6 

Populations at risk – The Arrest tables in this report (16, 17, 22, and 27) include three comparison 
populations: total (10–69 years of age), adult (18–69 years of age), and juvenile (10–17 years of age). 

When a series of rates is calculated using different populations, the rate calculated for the total will not 
equal the sum of the rates for the parts.  For example, the arrest rate calculated using the total at-risk 
population will not equal the sum of the juvenile arrest rate (based on the juvenile at-risk population) 
and the adult arrest rate (based on the adult at-risk population). 

Also, the percent changes calculated for these at-risk rates cannot be added.  This is because the 
percent change in the total arrest rate is the result of independent changes in both the number of 
arrests and the at-risk populations of adults and juveniles. 


	Table 2




Accessibility Report





		Filename: 

		Crime in CA_documents.pdf









		Report created by: 

		



		Organization: 

		







[Enter personal and organization information through the Preferences > Identity dialog.]



Summary



The checker found no problems in this document.





		Needs manual check: 0



		Passed manually: 0



		Failed manually: 0



		Skipped: 7



		Passed: 25



		Failed: 0







Detailed Report





		Document





		Rule Name		Status		Description



		Accessibility permission flag		Passed		Accessibility permission flag must be set



		Image-only PDF		Passed		Document is not image-only PDF



		Tagged PDF		Passed		Document is tagged PDF



		Logical Reading Order		Skipped		Document structure provides a logical reading order



		Primary language		Passed		Text language is specified



		Title		Skipped		Document title is showing in title bar



		Bookmarks		Skipped		Bookmarks are present in large documents



		Color contrast		Skipped		Document has appropriate color contrast



		Page Content





		Rule Name		Status		Description



		Tagged content		Passed		All page content is tagged



		Tagged annotations		Passed		All annotations are tagged



		Tab order		Passed		Tab order is consistent with structure order



		Character encoding		Passed		Reliable character encoding is provided



		Tagged multimedia		Passed		All multimedia objects are tagged



		Screen flicker		Skipped		Page will not cause screen flicker



		Scripts		Skipped		No inaccessible scripts



		Timed responses		Skipped		Page does not require timed responses



		Navigation links		Passed		Navigation links are not repetitive



		Forms





		Rule Name		Status		Description



		Tagged form fields		Passed		All form fields are tagged



		Field descriptions		Passed		All form fields have description



		Alternate Text





		Rule Name		Status		Description



		Figures alternate text		Passed		Figures require alternate text



		Nested alternate text		Passed		Alternate text that will never be read



		Associated with content		Passed		Alternate text must be associated with some content



		Hides annotation		Passed		Alternate text should not hide annotation



		Other elements alternate text		Passed		Other elements that require alternate text



		Tables





		Rule Name		Status		Description



		Rows		Passed		TR must be a child of Table, THead, TBody, or TFoot



		TH and TD		Passed		TH and TD must be children of TR



		Headers		Passed		Tables should have headers



		Regularity		Passed		Tables must contain the same number of columns in each row and rows in each column



		Summary		Passed		Tables must have a summary



		Lists





		Rule Name		Status		Description



		List items		Passed		LI must be a child of L



		Lbl and LBody		Passed		Lbl and LBody must be children of LI



		Headings





		Rule Name		Status		Description



		Appropriate nesting		Passed		Appropriate nesting










Back to Top

